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CIVIL ENGINEERING ESTIMATING & COSTING

fyifa wwa  fimwe) (3tftremam 37 : 70
Time allowed : Three Hours| [Maximum Marks : 70
Pz (i) FUH U Ty AErE 8, 99 5 8 fet v 1 I G |

Note :

Question No. 1 & 2 is compulsory, answer any ONE questions from the remaining.

(i) FF 59T F G4 T 1 FHER T G ET Ford |

(ii

Solve all parts of a question consecutively rogeriier.
i) Hedw 5T F 74 T8 @ IR il |

Start each question on fresh page.

(iv) 2 T & s 817 #) Rt 7 3 sgare @ = 8

Only English version is valid in case of difference in both the languages.

. (1) Peftfeddsmaalfiadamme 7

(a) i@ (b) e H

(c) weRm (d) wEa yafera gfan
Which of the following is measured in square metre ?

(a) Cornice (b) Concrete work

(¢) Shuttering (d) Steel reinforcement bar

(2) & i <v@e 71 %W H AT A R

(a) THR (b) X

(c) FRe= ) iR
Chowkhat or frame of the door is measured in

(a) Cubic metre (b) Metre

(¢) Quintal (d) Square metre

(10f12) P.T.O.
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(3) ¥=E % 1 Y 7, R i et F arar srar 2

(a) Twedaren e (b) fei aen v

(c) HEzE™ @ wffmeadi)
The item of steel work, which is measured in square metre

(a) Collapsible gates (b) Rolling shutters

(c) Steel doors (d) All options are correct.

(4) T O W Y T 1 o ST b B & 7

(a) 12560 kg (b) 3625kg
(c) 1000 kg (d) 7850kg
One cubic metre of mild steel weights about
(a) 12560 kg : (b) 3625kg
(c) 1000 kg (d) 7850kg
(5) WiggeR $2f 1 THR Brar
® 10%10 % 9em ®) . 19x9 %9 om
() 225x10x8.5cm (d 225x8x9cm

The size of Modular bricks is

(a) 10x10x9cm (b) 19x9x9cm
(¢) 225x10x8.5¢cm (d 225x8x9cm
(6) 3 wF Wi & F Hide B 3 0.035 md B, A v 27 Hiee % fr A
i o v 2
(a 10 (b) 12
(c) . 15 (d) 20

If one cement bag has 0.035 m3 volume of cement, the number of bags required
for one tonne of cement is

(@ 10 (b) 12
() 15 (d 20
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(7) Hi HeR F WY 12 mm % e 6 gy s Amn g ¢

(@) 3.0m? (b) 5.0m?
(c) 8.0m? (d) 6.5 m?

What is expected out turn of 12 mm plastering with cement mortar ?

(a) 3.0m? (b) 5.0m?
() 80 m? : (d) 6.5m?
8) T T et de Frd 3 for srravEe g@ waren d wn (9 Hiew) i 1o # |
(a) 0.18 (b) 023
(¢) 03 (d) 045
Calculate the volume (cubic metre) of the dry mortar required for 1 cubic metre
brick work.
(a) 0.18 (b) 0.23
(c) 03 (d) 045
9)  M-15 1 e T 3 1 100 m? % fore #rd wie 1 3 m? 3 feben @ 2
(a) 84 (b) 88
© 92 | @ 96
The volume in m® for M-15 concrete grade for 100 m>. The volume of coarse
Aggregate required is
(a) 84 (b) 88
(c) 92 (d) 96
(10) =i Fehie wr & forn wfa firelt wfa fem = araftqa wed fpa 2 7
(a) 10 @R (b) 2.5 FiHfteR
(¢) 5.0 @i (d) 7.5 @i
What i‘s expected out turn for a Mason in concrete work per day
(@) 10m? (b) 2.5m?
(¢) 5.0m? (d) 7.5m?

P‘T.O.
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(1) fo= srmpfa werd sfufamme & safad o #e #) vehfs s 2 | Hfa @ 6

gars & o1 fudt w5l foen @ 7
e 6m N.GL
Pl 0.6 m
X b 4
T
PLAN Section X - X
(a) 6.528 m? (b) 8.064 m?
(c) 8.832m? (d) 9.600 m?

The following figure represents plan and section of an excavation layout. The
volume of earth work in excavation of foundation is

6m

e —3 N.GL
s - 4 0.6 m
PLAN | 08m
A Section X - X
(a) 6.528 m? (b) 8.064 m3
(¢c) 8.832m? (d) 9.600 m3

(12) 19 Ta it et e & fore dam & o -siavm | 2t 2t 2
(a) dERH 3ef e (b) w7
(c) dram el HreT (d) EEr g Her
Deduction at the L-Junction of wall for total length of the centre line is
(a) Half the thickness of wall
| (b) No deduction

(¢) Thickness of wall
(d) Twice the thickness of wall
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(13) et daT 3 BT dan ugh #, i <an i eaTs dan F Hg § Fg 6 T

(14)

AfrafiFnadi e ?
(a) <ran i =E F1 3 (b) Eram i drerd w1 U T
(c) ram i =teE | A (d) drEnd EEE

In long wall and short wall method, the length of the short wall is equal to the
centre to centre length of wall minus

(a) half the width of wall (b) one fourth width of wall

(¢) twice the width of wall (d) width of wall

i Fastion farsamn 3 wyar w31 3 Fore amra: A o vgfa sEm H A R 2

(a) WeA Y@ Igh (b) o e 3 B Ean g
(c) wifem ugfa (d) B far ugfa

For building project estimate which method is generally used in P.W.D. ?
(a) Centre line method (b) Long wall and short wall method
(¢) Crossing method (d) Short wall method

(15) i & A1 1 e % for whiga wiwfo oits 3R forve i &

(@ S50md2m (b) 30md2m
(¢) 30md15m (d) 20md1m

The Nominal head and lift allowed for the earthwork in the excavations of the
foundations are

(@ S0mand2m (b) 30mand2m
(¢) 30mand1.5m (d) 20mand I m

(16) aﬁmﬁ%ﬁuﬁwﬁ@ﬁmmaﬁmmﬁaﬂlmﬁqﬁ!ﬁ

aﬁg@mﬁ,a’tfﬁ@ﬁ@@rmﬁmﬁﬁ:%ﬁﬁ%?
(a) HAPEH (b) HETHE G
(c) Frdiaga (d) = e ad E |

If the formation level of a highway has a uniform gradient for a particular length
and the ground is also having a longitudinal slope, the earthwork may be
calculated by which method ?

(a) Mid-section formula (b) Trapezoidal formula

(c) Prismoidal formula (d) All options are correct.
P.T.O.
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(17)

(18)

(19)

(20)

15 Hiet & wvams % U deay § @ard H A (fier) i moen ¢ | qeay £ o
wers 5 iex afit e 3 e | T EEE 15012 )

(a) 225 (b) 326.25

(c) 367 (d) 4275

Calculate the volume (cubic metre) of earth work in an embankment of length

15 metre. The top width of embankment is 5 m and depth is 3 m. The side slope
is1.5:1

(@) - 225 (b) 32625

(c) 367 (d) 4275

HH= Fhte ) T FeH 1000 Hiet awt, § ey 10 Bt O T & I9-379R
W 15 &t 91 R | ffde wew % ferm dshie (1 - 2 : 4) 1 SRR q1E1 B

(a) 3003 (b) 600 =3

(c) 900 (d) 12001

A cement concrete road is 1000 metre long, 8 metre wide and 15 cm thick over

the sub-base of 10 cm thick gravel. The cubic content of concrete (1:2:4)for
the road is

(a) 300 m? (b) 600 m3

(c) 900 m? (d 1200 m3
m#m%m%hﬁnﬁﬁmmmmm%mm% ?
(a) o wftrera fafy (b) wmE gor fafy

(c) Ffgama o fafy d) Y= fafy

Which of the following method is used for estimation of depreciation of building ?
(a) Constant percentage method (b) Direct comparison method

(¢) Ligistic curve method (d) Rental method
naﬂﬁimumsﬁwﬁrﬁ(&ﬁmﬁaﬁm(nﬁmmﬁhmmﬁ
St 7

i =1

(a) l::(l_f'i;n—l—T (b) I=§L+11L
S(1L+ i)+ ! __ Sxi

(C) 1+i (d) i_(1+i)n+]

The Annual Instalment (I) of the sinking fund (S) over n years, at i rate of
interest may be calculated from the formula

s . _ S(1 +ip-1
® I~ ol Ll

S(1 + it o Sigd
(c) 1+i (d) I‘(l+i)n+l
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(21)

(22)

(23)

(24)

(25)

FEf % @l g 3 YeasTE F YR T 36 I5av Ay F N F e B
T HE AR ?

(a) WHITA (b) W

(c) HaTSH A (d) Fr=ro g

The value of property during its useful life based on purchase value and
depreciations is known as

(a) Scrap value (b) Book value

(¢) Junk value (d) Salvage value

framrett st 3 fore amaTra: Frafofaa 3 & #i @1 % TE e @R 2

(a) WG - (b) TRUTTERT

(c) @wfaa (d) feshi=

Which of the following tax is generally not applicable to residential building ?
(a) Wealth tax (b) Municipal tax

(c) Property tax (d) Sales tax

a2 fopelt e 1 3o 3 FETE B % T T A1 e Y o IR @ SR
e 1 HEATA 8 7

(a) wE A (b) THTH

(c) eas ged (d) wTH I

The value of property (without being dismantled) at the end of the useful life
period is known as

(a) Scrap value (b) Book value

(¢) Salvage value (d) Market value

s Wyt 3 e geamE Y o i et srfte @ T 10,000, Sl
T ¥ 1,000 3 ITENT A 1 79I 30 WA R |

(a) 300 (b) 367

(¢) 1333 (d) 33333

Calculate the annual depreciation of machine having initial cost ¥ 10,000/~ the
scrap value 1,000 and useful life is 30 years. :

(a) 300 (b) 367

(c) 1333 (d) 33333

e # ¥ F19 wmfe % JeasE & A @ 1 R 7
(a) T SRR (b) fewmem & gun

(c) gt fesmem i ww=m @) wof faweaadt ¥

Which of the following is a factor for obsolescence of the property ?
(a) New invention :

(b) Improvement in design

(¢) Outdated design and structure

(d) All options are correct.

P.T.O.
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(26)

(27)

30ﬁ%wﬁﬁmmﬁm%maﬁﬁuﬂzaﬁmﬁaﬁwﬁmmm
5% %1

(@ 0.05 (b) 0.2

() 2 (d) 20

Calculate the year’s purchase for a property of useful life 30 years and rate of
interest 5% per annum.

(a 0.05 (b) 0.2

() 2 (d 20

¥ 20,000 =1 AFTA AT T ! T FET AR ?

(a) Ge-RHE (b) BrRIHH

(c) =ETHH (d) g afeEr

A work costing 20,000 is termed as

(a) Petty work (b) Minor work

(¢) Major work (d) Minor project :
(28) famfor it o1 wmTa TR =7 % fore et wmTa 1 e wfeera e T ¢

(@ 2% (b) 5%

© 1% d 15%

What percentage of the total cost is added in the cost of construction for
contingencies ?

(@ 2% ®) 5%
¢ 1% d 15%

(29) ¥ &ret & aTeaht &1 AT SEhet wnfirer s JmaT d 7
@) 75% (b) 50%
(c) 25% (d) 85%
The floor area includes the area of the balcony upto
(@ 75% (b) 50%
() 25% @ 85%

(30) weh fomton fervamr = remrerfaeh srerer i A & < e w3 vt S AR 2
(a) HERS Sfif (b) efiaror Sfifam
(c) & SR (d) SHrIUTeS SRR

Administrative Head of Public Works Department, who is directly responsible to
govt. is

(a) Assistant Engineer (b)  Superintendent Engineer
(¢) Chief Engineer (d) Executive Engineer (1x30)
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W W

2. (M T Ee = Doors : D - 120 x 2.10

2 Pt -
Bk raleie Window : W - 1.00 x 1.50

o0 ]I 4.00 x 5.00 2 ]I
X
[, A 5.00 x 5.00 b

> >4

] DI ] DI

(a) PLAN

<— Heat and Waterproof Layer

12 ecm RCC Slab

RCC Lintel Band

40cmD.PC: 4.0cm C.C. flooring

NN NN RN

oTco [ Asaaa s 7.5cmP.C.C. 1:5:10
: / e

e ~ x

630 % 0.10
060 < 0.10

"7 0707 [/" 0.10
080 —~— 0.20

‘EV,‘A?,'.V,:V.‘.V.'.V.'.V,’.V.JV,‘.V.SV.:V,’ 0.30
SSANTASIATIANTATIATIATIATATIANIAN AN

Bed
Concrete
1510  f———— 110

(b) SECTION at X-X
Note : All dimensions are in m.

f=-1/Fig. 1
o e 1 3 fa ma v 3 for Frer @t w1 o s Hifr
Calculate the quantities of the following items for the building shown in Fig.-1
(a) e d firgh o1 &

Earthwork in foundation

P.T. 00
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(i1)

3. ()
(ii)
4. ()
(ii)
5. (i)
(ii)

(b) RFEFFE 1 6 Fi= mae & Hiq aor i d

Brick masonry work in 1:6 cement mortar in foundation and plinth

(c) % T ® wr sfrad 1 6 HiHw wae d

Brick masonry work in 1:6 cement mortar in super-structure

(d). 12 mm =T 1 : 6 WA= R Ear & I H T
12 mm thick cement plaster on inside wall face in 1:6 ratio

U g% qeay i famior =g 9.0 fet @ qwr wwE H 2.5 : 1 %1 91vd @A 2, 50
HeX FAAA WASH H G @A TETE 1.2, 1.1, 1.4, 1.2,09, 1.5a 1.0 Hizx & |
it & sl &Y mran Y TvET S |

The formation width of a road embankment is 9.0 m. The side slopes are 2.5 : 1
in filling. The depths along the centre line of road at 50 m intervals are 1.2, 1.1,
1.4,1.2,0.9, 1.5 & 1.0 m. Calculate the quantity of earthwork. (19+9)

faftr= we & wrametl ®1 39 U1 3 N |fEd FHSTET |

Explain various types of estimates with their merits and demerits.
vafera A= Fh1E 1 : 1% : 3 F U@ & HE e & fore 2 faverm #ifvm |
Make rate analysis for R.C.C. work | : 14 : 3 in slab. (6+6)

‘srfercen 8 de fTd 1 : 6 Wi T (1 €= : 6 W1 o) §' Y fawga fafrfeat
iiced

Write down the detailed specifications for the item ‘Brick masonry in
superstructure in cement mortar 1 : 6 (1 cement : 6 course sand)’.

oy Foft & wa= & grum iRt fafee )

Write down the general specifications of first class building. (6+6)

T Hi83 Ha= & Haey faear & g9gmu |

Explain in detail the duties of a Junior Engineer.
Formfor woret o amft & Sueton &1 ST Gy faRe s fee ST 2 7 wwEmse |

How materials and equipments records are kept at construction site ? Explain. (6+6)
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6. Ta= = wwzmsU
Explain the fol]'owing :
() $-Ffe
E-tendering
(i) wg= fafy
Sinking Fund
(iif) e 5 gerd % fere geem e
Economic depth of digging for canals
(iv) AT AT
Scrap and salvage value (3x4)
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